Mg EEEEEkatiest % 3k ERRK
& A i 1E
20 H R D | BHEE RS R GEHIE LRS- [FIfRaR | &G i s s gt - [RIfRaR
1247H
60 H b | REnxktbzbd Ry EAH % 5
21TH
75 B (d) SERHIBE N A2 (b) ZERHFE PR HE
X C2.43 (b) B TR (d) EA TR
87 HFirb | % C2.16 # C2.17
117H
102 | Mpz: 7T PRROTERWTE TR | iMauz: 7 7 2 PO TER T TR
1117H £5 F57 7 URkFORKINT )
103 & A EE L2 SE, 21280 | - EEE LESE, 2.1.2 HOK-
16 1T H
1M ' 2D | 2214 2.2.178
21TH
112 H b | il St 5z s
124T7H
118 H b | - aE X2\, Lo T, BRIV, LR o T,
81TH
119 H I 5 | pp,=185kN, p,,=303kN Py =185kN, p;,=303kN
16 1T H
142 B H 22 WA DB A1 — e DS E I
117H HOXLTE 1F TS
155 5 F/ 5 | L=Dy—2t, l,=Dy—213—2S
81TH
156 B bMp=1Zp, * Fp=1242 sM, =7, * F;,=1242
124TH
156 EH K726 S [ v [
121TH d} iy = Z S—Fby
157/_E\T wgu=(1+0.4c080)2a * Fu/\3b | wqu=(1+0.4c0s6)2a * Fr/\/3
181TH
158 B A, A
1017 H




158 H F/ b
117H

b]V[fu:bZﬁ) * Fbu: 1242

b]Wp:pr ° Fby: 1242

159 H Finb C4.30 C4.32

51TH

2R o by oY

(C4.37)= Ty de Ty  de

177 HHLFED S | BRI I (P, =D * 14+ 64) BRI I (P,=D * 4+ o4)

131TH

178 H o3y P, DT P,

X C4.54 (B EFTH ) (BEFTH )

188 H | (=721, y=0.1) (7=z72L, y=1.0)

(C4.46)=%

201 H R D | Btz L F#kd v

15~111TH (5 - e &) (F5f « ey &)
TR M2 ar bty —L M= e My —L

9417H Ih—2Is Ih—2Is

217 H Mo= Mo="""

101TH

217 H NG | Mo= M=

31TH

218 H M=+ M=+

21TH

237 H pMpg, =+ =2980X 103X 325=969 X | yMp,=--=2900 X 103X 325=943 X
61TH 106 N * mm=969kN * m 106 N * mm=943kN * m

237 H T | % yM, = =(1.064+1.048) X969 | % : ,M, =---=(1.064+1.048) X 943
417H =2047kN * m =1992kN * m

238 K XAV I - =0.723 PRIV TIEE ¢ - =0.742

117H

238 H Fne | - EADOROEEME—RA 2 b= | - EHFOROEHEEE—A L k=
41TH 969kN - m 943kN * m

239 H Y --=2063kN - m G o --=2008kN * m

417H

239 1 St s 1892 0898 [ stk 1892 _ 0992
61TH 2063 2008

240 K cEEOROEPEET—RA L b= | EAOROEPHEE—A L fo=
121TH 969kN * m 943kN * m




240 H

gL X969=2044 kN + m

P X 943=1989 kN * m

201TH

240 1 SEIHIE ;1290 _ 0 614 SEHL A ;1226 _ 0 631

22 47 H 2044

248 E R0 D | /25 ¢ yMy,=2980X 103X 325=969 | /%% : ,M;,=2900 X 103 X 325=969
147H X 103=969kN * m X 103=943kN * m

249 H FGE Mg, =1680X 103X 325=>546 | £ 4% : ;Mg,=1650X 103X 325=536
147H X 103=546kN * m X 103=536kN * m

249 H gk = (- )x546+(-+)x969 Zhoeee= (- )X536+(-+)x943
91TH =1596kN - m =1559kN * m

249 1 St 1280 0806 | ity c 1280 Z 0,825
121TH 1596 1559

250 B JEoe A - =2980X 103X 325= | /£ « £ - =2900 X 103 X 325 =
19178 969 103=969kN * m 943X 103=943kN * m

250 B 7k . ---=2045kN * m 7. --=1992kN + m

26 1T H

250 1 SEATI A2 20729 | g ;1392 0 749
117H 2045 1992

250 H b cOr+pQL »Qr+s01

3??5 Qw= “_T QW:..._T

261 K =AU YA FRF 75

C6.2

265 E F/2 5 | ---=607>600kN +++=607kN >600kN

31TH

266 H F/n5 | --=1064>0 * ;Nz=-" - =1064kN>q * ;Ny3=+-

417H

267 H N,=a N, N, =a - N,

(6.12)

268 H (LY100,SN400B)=2.50 (LY100,SN400B)=2.55

7 6.3 (LY100,SN490B)=2.65 (LY100,SN490B)=2.70

(LY100,SM490)=2.90
(SN400B,SM490)=1.70

(LY100,SM490)=2.95
(SN400B,SM490)=1.75




p.267

=0
iR

1)

p-271
9

R7x

1F)

6.3 HRMEFEERR T L — 2 8EEOHE R

- AR OBERR 2 e 5 EH
e HEATEIR O RER }; gg ;}g%
SN 400B | SN 490B SS 400 SM 490 DF b
LY 100 2.50 2.65 2.90 2.90 2.70
LY 225 1.25 1.30 1.45 1.45 1.35
SN 400B 1.50 1.60 1.70 1.70 1.60
SN 490B 1.30 1.35 1.50 1.50 1.40
6.3 MR EHEERR T L — A OEEA TREL
- AR DOREIR 2 P 5 K
HEAHAT D RER i /AL b
o SN 400B | SN490B | SS400 SM 490 g@%ff\ )
LY 100 255 270 2.90 2.95 2.70
LY 225 1.25 1.30 1.45 1.45 1.35
SN 400B 1.50 1.60 1.70 1.75 1.60
SN 490B 1.30 1.35 1.50 1.50 1.40
= C 6.4 JEEIERT L — 2 DEREY R BA IR a
ot T T N gk
SN 400B SN 490B SS 400 SM 490 7T Ak REW
LY 100 2.48 2.63 2.86 2.89 2.68 2.17
LY 225 1.22 1.29 1.41 1.42 1.32 1.06
SN 400B 1.47 1.56 1.69 1.70 1.58 1.28
SN 490B 1.27 1.34 1.46 1.48 1.37 1.11
#=C 6.4 JEEHERT L — R DERERN B IR o
st B MR DR R g
SN 400B SN 490B SS 400 SM 490 7T A K REW
LY 100 251 2.66 2.89 2.92 2.70 219
LY 225 1.22 1.29 1.41 1.42 1.32 1.06
SN 400B 1.47 1.56 1.69 171 1.58 1.28
SN 490B 1.27 1.34 1.46 1.48 1.37 1.11




271 H (LY100,SN400B) =2.48 (LY100,SN400B)=2.51

7z C6.4 (LY100,SN490B)=2.63 (LY100,SN490B) =2.66
(LY100,858400) =2.86 (LY100,85400)=2.89
(LY100,SM490) =2.89 (LY100,SM490) =2.92
(LY100,7 7 A h)=2.68 (LY100,7' 7 A 1)=2.70
(LY100,77 = 1) =2.17 (LY100,77 S WN)=2.19
(SN400B,SM490)=1.70 (SN400B,SM490)=1.71

275 H C4.32 C4.33

51TH

275 H 7T Y DGR 7 T Y DIERUSIA TS

1317H

285 H 0DB| X H LEROALE

C6.24

290 EHFA D | SAEEE A OB IEMEIRICRE T 5 | SRS SR O BB MR PRI BT 2

841 H fRMT IR fEAT ST

299 B EE R SR EREE X 20d, B

61T H

305 H E#k72 L B v

4~61TH (B5# - ey &) (F5f - ey 2 T)

310 H b 1 1

B pM=-=—X17.1-=0.192kN * m | pM="--=— X17.5:--=0.197kN * m

41TH 2 2

311 | Z,=--=1.06 X 10mm3 Z,=--=1.06 X 10°mm3

81TH

311 H N,=:- N,=-

151TH

311 H F2 B | Op="=0.5X(1800+2310)= 05 ="=0.5x(1800+2300) =

91TH 2.06 X 103kN 2.05% 103kN

311 H F2 5 | 0,=:-=2.06 X 103kN 0,==2.05X103kN

51TH

312 H T,=" T,=

7T1TH

312 H /b | J,=:=3638>3001kN J,=-=3638kN>3001kN

1117H

313 H 26 | =426mm =426kN

131TH




318 H M, M,

C7.27 T, T,

BISEH Find | T,= T,=

1017 H

318 HF»H | NN=T,+N="" N =T +N="-

81TH

BI8H G | RMBVEMM & M, &35 &, ML | BB IZ M, T2 &, M, 1%
51TH

318 H FMD | My=-+T,*d="+T, * d, M,=-+T,+d="+T, * d,
31TH

319 H 04 =0.5(N+T,) =" 0 =0.5(N+T,)=""-

31TH

320 H Q,1==2X654X Q1= =2X 654X

141T7H (1+0.4c0s48” )6.36 X -+ (1+0.4c0s48° ) X 6.36 X -

320 H Q,,==2X632X 0= =2X632X

1817 H (1+0.4c0s42° )6.36 X -+ (1+0.4c0s42° ) X 6.36 X -

322 H N/A="<F.X2/3=16(F.24) N/A=--<F,X2/3=16N/mm2(F.24)
417TH

324 HFM)D | Q=a-1+F, 0,=2Xa-*1*F,

141TH

325 H DI X D Fhh Z O X B EAE
51TH

325 H FEVRAES Po=-- FESRANES  pe=-+-

61TH

325 H FIRHIE Po=- FRHIE pe=---

T1TH

325 H D | NNA=--<F,=16(F.24) N/A = -+ < 0.85F, = 20.4N/mm?
1117H (F.24)

331 H b | AL, RIEOBHAMEZ - LU, RIEI OB AR A
1547 H

335 H 76 | =47X100X 103+ =47X120X1073+---

51TH

335 H F/nbH
417TH

=4.7+58.0=62.7kN * m

=5.6+58.0=63.6kN * m

335 H F»nbH

=-4+62.7=241kN * m

=--+63.6=242kN * m




117H

336 H M,=--=241kN M,=---=242kN
21TH
336 H 0,=-=302+62.7X--=393kN> | 0,=--=3802+63.6 X --- =394kN >
51TH M,/ =241 X - M,/ 1=242X -+
347 H M,=F, +B.*1* M,=F., *B.+1*
417TH

JQI+d)+d> — 21 -d)} JQl+d) +d> — (21 +d)}
349 H F72°5 | N,=500X500X 16X 103 N,=500X 500X 16X 103=4000kN
1117 H
349 H F7°6 | =maximin[---], 4X0.75 X 452 X | = max{min[---], 4 X 353 X 400 X
31TH 400 % 103} 103}
349 H /5 | =maximin(2160, 1205), 542}=--- | =maximin(2160, 1205), 565}="--
21TH
350 B R—=2A7 L — FDEHEX S, R—=A 7L — FDEHE X 5y
1017 H X85 (RXXF) —s U3




